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1. (−6) – 1=____________

2. -120 − (−35)=_____________


3.  Dorothy bought 4 boxes of chocolates for $12. Find the unit price.

_____________

x _________________





n


x 


(v)=_____________


        9.  −25 (x + 1)=____________


       10.  Sally has a recipe that needs ¾ teaspoon of butter for every 2 cups of milk. If Sally increases the amount of milk to 3 cups of milk, how many teaspoons of butter are needed?
___________________

      11.  15 = −2(4n + 3)

___________________
